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FA: Aot AIE A
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O s0E dgs:HL(DEe-ESFEEXT)
A& 5,248,286,000& 5,248,286
= 4,147,6%
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[ 185,630
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01 AlZ2H| 1,379,000 950,000 429,000
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[ 1,645,857
T 438,000
401 Al HIZL 201 2,083,857 1,000,000 1,083,857
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- HIIAE HIIZA =28
2,000,000 *23] 4,000
Y REE o2 WS
100,000 %23 200
- SOIAE QAN =2
200,000 43 800
O 2828 7,140
. & A 60,0001 *119& 7,140
02 S3=gHl 511,120 366,680 144,440
O 232 % HA 449,260
ot=xeld &Jles
19,000,000& «12& 228,000
. Y= MOISAE HIIRS
8,300,000& * 12& 99,600
. SRS 500,000 * 122 6,000
aE AEZ 8,500,000& ~12& 102,000
S 282
500,000 *4CH*13] 2,000
. AEXY ENERES
250,000 *4CH*33] 3,000
. ot=XclE 224 Sgad
700,000+ 11 7,700
Aot AE LPG AtE2ZE
40,0002 23| * 12 960
O ¢=H 3,500
. 2els dey)| & 250 KRF 7Y
1,2502 %400 £ *62 3,000
Al ug S8 Y
1,2502 %100 £ *4Z 500
O AN&ZEBIs XY 6,400
o SAPI & FAX A2l
400,000 «2CH*32] 2,400
ditetd| |2l
1,000, 0002 «2CH <22 4,000
O Xtg. A7l 34,960
. AENY FFEU
1,650 %300 £ 4L« 12 23,760
HEXE +=cldl
350,000 *4CH+8Z 11,200
O WIISx=2RE=s
17,000,000 * 100 2~ 17,000
203 HR=AH] 3,000 3,000
03 A= LR F&IH| 3,000 3,000
O dot=ZAg g2 =4
3,000,000 3,000
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7103 %120,000kg 85,200
. S0I2 D2NSTEM(24)
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1,200,000 *62 7,200
O 43S 2L Ao U 203
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O &IAEAEE 7Y 6,220
DLHEMLZ(PF.COS) 1,000,000 1,000
. PLCItE 3,000,000& 3,000
. NYHHEES 50,0002 *30H 1,500
RS oHEIl Y BT g
720,000 720
O 234 ASHYl NHBIT L FI| 7
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O 240l 2E E 2&
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207 ARl 7,200 7,200
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1,500,000 *23] 3,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
. SHe3 500,000 *87H 2 4,000
206 M=l 161,720 23,849 137,871
01 MZH| 161,720 23,849 137,871
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O #+=ZTS TOC A2 1,200,000 203! 24,000
O Ald EHl 27 F0H
1,000,000& *22] 2,000
O &g A28 28 6,960
. UYHH 2F 1,440,000 12 1,440
PLC Jt= 3,200,000& %12 3,200
NYHE RS 50,0003 *32H 1,600
2SS g0l & #a
720,000 12 720
O 2SS4l Ald g & otgd))|
1,500,000& #72] 10,500
O g7 ¥ 2¢ 1,000& *30L* 102 300
O 2o 2E Ed 3,000,000& *22 6,000
O JIet 223 960
. 24FE WA HEH
25,0003 %123 300
LAEES 25,0008 * 122 300
. BABE 30,00021%123] 360
207 1P| 7,200 7,200
R EEET 7,200 7,200
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O «ZAEE Ao 2
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01 Al&H| 479,400 115,020 364,380
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O Jlsde 849 100,000,000 *1JH A 100,000
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